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$OKDPGXOLOODKLUDEELO¶DODPLLQ��WLGDN�OXSD�SHQXOLV�VHODOX�SDQMDWNDQ�SXML�GDQ�

V\XNXU� NHSDGD� $OODK� 6�:�7�� \DQJ� 0DKD� .XDVD�� 0DKD� 3HQJDVLK�� GDQ� 0DKD�

3HQ\D\DQJ�\DQJ�VHODOX�PHPEHULNDQ�NHNXDWDQ��NHODQFDUDQ��GDQ�NHVHKDWDQ�VHKLQJJD�

SHQXOLV�GDSDW�PHQ\HOHVDLNDQ�PDVD�SHUNXOLDKDQ�GDQ�SHQ\XVXQDQ�7XJDV�$NKLU�LQL�GL�

3URJUDP� 6WXGL� 6�� 7HNQLN� 7HOHNRPXQLNDVL�� )DNXOWDV� 7HNQLN� (OHNWUR�� 7HONRP�

8QLYHUVLW\�

$WDV� VHJDOD� GXNXQJDQ� \DQJ� GLEHULNDQ� NHSDGD� SHQXOLVD� GDODP� PDVD�

SHUNXOLDKDQ� PDXSXQ� GDODP� SHQ\XVXQDQ� 7XJDV� $NKLU� LQL�� GHQJDQ� UHQGDK� KDWL�

SHQXOLV�PHQJXFDSNDQ�EDQ\DN�WHULPDNDVLK�NHSDGD��

�� $OODK� 6:7� DWDV� VHJDOD� QLNPDW� GDQ� NDUXQLD�1\D� VHKLQJJD� SHQXOLV� PDPSX�

PHQMDODQL�PDVD� SHUNXOLDKDQ�GDQ�PHQ\HOHVDLNDQ�7XJDV�$NKLU� VHEDJDL� V\DUDW�

NHOXOXVDQ�GL�3URJUDP�6WXGL�6��7HNQLN�7HOHNRPXQLNDVL�7HONRP�8QLYHUVLW\�

�� .HGXD� 2UDQJWXD�� .DNDN�� GDQ� VHOXUXK� NHOXDUJD� EHVDU� \DQJ� VXGDK� VHODOX�

PHQGRDNDQ��PHQGXNXQJ��GDQ�PHPRWLYDVL�GDODP�VHJDOD�KDO�VHKLQJJD�SHQXOLV�

PDPSX�PHQ\HOHVDLNDQ�PDVD�SHUNXOLDKDQ�LQL��6HPRJD�$OODK VHODOX�PHQ\D\DQJL�

NDPL�GDQ�PHQJL]LQNDQ�NDPL�VHODOX�EHUVDPD�

�� ,EX� /HG\D� 1RYDPL]DQWL�� 6�6L��� 0�7�� VHEDJDL� SHPELPELQJ� ,� GDQ� ,EX� 6RILD�

6DLGDK��6�7���0�7��VHEDJDL�SHPELPELQJ�,,�\DQJ�WHODK�PHOXDQJNDQ�ZDNWX�GDQ�

GHQJDQ�VDEDU�PHPELPELQJ�SHQXOLV�VHODPD�SHQ\XVXQDQ�7XJDV�$NKLU�GDUL�DZDO�

KLQJJD� VHOHVDL�� 6HPRJD� $OODK� PHPEDODV� MDVD� ,EX� \DQJ� WHODK� PHPELPELQJ�

SHQXOLV�

�� 7HUXQWXN�*KLQDGD�$PDQLD�\DQJ�VHODOX�PHQHPDQL��PHPRWLYDVL�GDQ�PHQGXNXQJ�

GDODP�KDO�DSDSXQ�NHSDGD�SHQXOLV�GDODP�PHQ\HOHVDLNDQ�PDVD�SHUNXOLDKDQ�LQL�

�� 7HUXQWXN� 5DILI� 5L]TXOODK�� )HUQDOG\� $ULILQ�� .KDLGLU� $OL $��� 5DMD� =XIDU $���

1DGKLID�6DOVDELOOD��$QQLVD�,QD\DK 6���GDQ�1DELOOD�$PDOLQD�8��VHEDJDL�VDKDEDW�

SHQXOLV�GDUL�PDVD�DZDO�SHUNXOLDKDQ�VHPHVWHU���KLQJJD�VHNDUDQJ�\DQJ�VHODOX�

PHPEDQWX�� PHQGXNXQJ�� PHQJKLEXU�� PHPRWLYDVL� SHQXOLV� GDODP� KDO� DSDSXQ�

VHKLQJJD�SHQXOLV�ELVD�PHQ\HOHVDLNDQ�PDVD�SHUNXOLDKDQ�LQL�
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�� 7HUXQWXN�0��+DLNDO�5L]NL�$��6HEDJDL�VDKDEDW�SHQXOLV�VHUWD�WHPDQ�VHSHUMXDQJDQ�

VHPHQMDN� DZDO� PHQJHQDO� NHSDQLWLDDQ� GL� KLPSXQDQ� VDPSDL� VDKDEDW�

VHSHUMXDQJDQ�GDODP�SURVHV�SHQJHUMDDQ�7XJDV�$NKLU�LQL�KLQJJD�VHOHVDL�

�� 7HUXQWXN�5DXGLQD�$TXLOOD��&KDHUXPDQ�,OKDP��GDQ�:LU\DGDQL�5DKD\X�VHEDJDL�

VDKDEDW� SHQXOLV� VHPHQMDN� GXGXN�GL� EDQJNX�6HNRODK�0HQHQJDK�$WDV� KLQJJD�

VHNDUDQJ� \DQJ� VHODOX� PHPEDQWX�� PHQGXNXQJ�� PHQJKLEXU�� PHPRWLYDVL� GDQ�

VHODOX�PHQMDGL�DODVDQ�SHQXOLV�XQWXN�FHSDW�PHQ\HOHVDLNDQ�PDVD�VWXGL�SHQXOLV�

�� 7HUXQWXN�0��1DXIDO�$NEDU��0��1DXIDO�5LGKD��$JXQJ�$GL�3XWUD��1RID�6DIDQGD��

$UOLQD� $QZDU� GDQ� 0XQQL� $U\DQL� VHODNX� VDKDEDW� VHUWD� UHNDQ� NHUMD� SHQXOLV�

VHEDJDL�SHQJXUXV�LQWL�%3�+077�������WHULPDNDVLK�DWDV�VHJDOD�GXNXQJDQ�GDQ�

WHULPDNDVLK�WHODK�PHPEHULNDQ�EDQ\DN�SHQJDODPDQ�EHUKDUJD�XQWXN�NHKLGXSDQ�

SHQXOLV�GLPDVD�PHQGDWDQJ�

�� 7HUXQWXN� =DNL�$NKPDG� )DULG]DQ�� )DUGKLQD�$PDOLD��4DDLG� 7HUULRQ�� 6XOWKDQ�

$ULHI��$ULV�5DPDGKDQL��0��)XONL�)LUGDXV��-RQDWKDQ�<XGKLVWLUD��5DG]TL�)DGKLO�

0��� GDQ� )DGKLOODK� 5\DQ� VHODNX� VDKDEDW� GDQ� UHNDQ� NHUMD� SHQXOLV� VHEDJDL�

SHQJXUXV�.HPHQWULDQ�.HVHMDKWHUDDQ�$QJJRWD�GDQ�.HPHQWULDQ�.DGHULVDVL�%3�

+077�WHULPDNDVLK�WHODK�PHQMDGL�UHNDQ�NHUMD�\DQJ�EDLN�GDQ�WHODK�PHPEHULNDQ�

GXNXQJDQ�XQWXN�SHQXOLV�

��� 7HUXQWXN� ,QWL� GDQ� .RRUGLQDWRU� *$7+5$.� ���� \DQJ� VHEDJDL� NHOXDUJD�

SHUWDPD� SHQXOLV� GDODP� PHQJHQDO� +LPSXQDQ� 0DKDVLVZD� 7HNQLN�

7HOHNRPXQLNDVL�

��� 7HUXQWXN� 'HSDUWHPHQ� .DGHULVDVL� /DQMXW� %3�+077� ����� VHEDJDL� WHPSDW�

SHPEHODMDUDQ�RUJDQLVDVL�\DQJ�VDQJDW�EDLN�EDJL�SHQXOLV�PHQMDODQL�RUJDQLVDVL�GL�

SHUNXOLDKDQ�

��� 7HUXQWXN�VHOXUXK� WHPDQ�WHPDQ�NHODV�77�������\DQJ� WHODK�EHUMXDQJ�EHUVDPD�

GDUL� DZDO� VHPHVWHU� �� KLQJJD� VHNDUDQJ� EDLN� GDODP� SHUNXOLDKDQ�PDXSXQ� OXDU�

SHUNXOLDKDQ�

��� 'DQ� VHPXD� RUDQJ� \DQJ� WHODK� PHPEDQWX� GDQ� PHQGXNXQJ� SHQXOLV� GDODP�

PHQ\HOHVDLNDQ�PDVD�SHUNXOLDKDQ�LQL�


